ORIV RRISTE/IT - 2025507R

3HE), 108 (K, 17B(K), 24B(K), SIHR)IZHKEER T,

HECEY, TOTSL AV RN IE—HNERIZEDHEENHYET

F BEEINTOEWERDR Y 2—

<7T=I>—-—"T—)L—

JZDEFELTIKERISITETEMEE TS,
[RO—=I]: RO—LE| (BLEARFHE. RENMVDETY) [Eylav]: jl&SmEIBETY

[(ER]:EEHTY [FH]:FTHABETY [BEF].BEFNVETT

A X 3 S S Ez
- 09:00(60 43) F v X X 4 2]09:0060 %) ¥ v X Z 1 2| 094
09:00 VIRG—I/HR-RE|VTRI—L/HR-RE 09:00

“HR[RI—IL] ~HRRI—L]
09:30 09:30
10:00 |10:0045%) * ¥5 TR E 10:00455) 7V FEH R~ 10:00(6053) % » X 2 £ 2]10.00605)) ¥ v X X £ 2| 10:00
/AQUA ZUMBA(R)* w&0O VORG—/ R RE|VTRI—IL/HPR-RE
ZH 10:15B3051) 7 97 7 4 — - BHRIRI—IL] HRRI—I]
JabL—=U5 - K3
10:30 10:30
£:55(45’n‘)7’77t“7x-
[m]
- 11:0060 ) ¥ X X 4 2[11:00605) F v X 2 A 2| 111
e DUR— L (RE)-FH|VIRI—IL(RE) A 11:00
11:15(45 5 )RE — X (X 11:1545 73 )RNE—Z /2 HRI—IL] BRI—IL]
VT RG—=IL-BHIRY /7%7—)1/ BHRIRY
11:30 |—/\] A 11:30
g;ss(soﬁ)?}]ff&miﬁ-iﬁ
bt}
- 12:10(60 %) B A X A 22| 12:00(304)AQUA SPL -
1200 ’7]7\’7—)L-Jlllh§[?{’7: ASH- A3 12:00
1k
12:30 12:30B05) 7V FEH R~ 12:35(4053) 2 Lk L — 12:30(1205)/\vwE—J 7| 12:30
3 A 27l SY—=T7T7—[F#1] 3
13:00 1310(40 P BEEE Y RZ|13:1060) KA RS 13:006043) F Y X XA X 13:00
X+ JRY— - RE[RI— DYRY—=IV/HR-RE
)2 HHIRI—I]
13:30 13:30
14:00 |14:00(30%") ¥ #k K %k - A 14:00(6093) ¥ v X XA = 14:00
# § YRS (B A
HMRY—IL]
. 14:30(6053) F v XXX .
14:30 DRO—L/HR-IRE 1430
SHRIRI—I]
15: 15:006093)F v XX A 2 15
5ty VYR —IL(RE)-F 900
HIRH—IL]
15:30 | 15:30(60%)F Jx‘x 4 2]15:30(60 ) ¥ X R A 2] 15:30(60 53) ¥ X R A $]15:30(60 %) F v X R 1 $]15:30(60 % ) ¥ J;{x»fs 15:30455M) 7V 7E Y X | 15:30
VORG—=I/HR-RE /JXb—;b/ﬁJJE RE|VIRI—IW/PR-RE|V TR/ HR-RE|VTRI—IL/HR-RE A3
CHHRI—I] ~HHIRI—IL] SHRIRI—I] ~HRIRI—IL] ~HRRI—IL]
16:00 16:00
16:30 |16:30(6053)F » X X 1 2]16:30(60 ) ¥ v X X A 3]16:30609) F v X X 1 3]16:30(60 %) ¥ v X E 16:30(60 %) ¥ v X X 1 216:40(3071) 7 ¥ 7EH X - 16:30
DGRG—=IV/HHR-RE|VTR)—IV/HR-BRE|VTR)—IL/HR-RE /9’17—lb/fdJL BV R)—IL/HR-BRE|RD
HRRI—IL] CHRIRI—IL] CHHRI—IL] BRRI—L] HRRI—I]
17:00 17:00
17:30 |17:30(60%)F v X X 4 S|17:30(60 93 ) F v X X 4 ]17:30(60 93 ) F v X X A £]17:30(60 53) ¥ X R o $|17:30(60 53 ) F v M3 17:30
DGRG—V(RE) - BT RI—L(RE)-F|V T RI—V(RE)- BV I RI—L(RE)-F|v T RI—IL(R ) A
HIRI—I] HRI—] #RI—I] #RI—] HIRI—I] 17:45(6050) A RSV
JRO— LIRS —
18:00 2| 18:00
18:30 |18:30(60%3) ¥ v X2 1 2[18:30(605) F v XA A2 18:30(6043) ¥ v X X 1 3[18:30(604) ) ¥ v XX A 2 18:30
VYRG—IGEFER) |V T RAY—IL(EFE/R) VU RY—IL(GEFER) /JRO—)L(;%#’%EE)
CHHRI—IL] “HH[RI—IL] “HRIRI—IL] CHRRI—IL]
19:00 19:00
19:30 19:30
19:50(30 53 ) R A Lk L — 19:5030 ) R A Lk —
=il VTR
20:00 20:00305) 7Y TEY R+ 20:00(3053) H # K ik - 11 20:00
/% 5
20:30 20:3030)F VT H R+ 20:40(30%)AQUA SPL 20:30
R ASH-ft
21:00 21:00
21:30 21:30
A X X x 3 >

£k BH:2025/06/23 22:38:52




	202507

